CemHapuartbin ypoK Elementary
Modals - Unreal Past

OH mor 6bl pelwnTb 3Ty Npobnemy, HO He
peLmnn.

OHa morna 6bl HayaTb HOBbIV BU3HEC, HO He

CTaljla 3Toro genartb.

OHM mornu 6bl NO3BOHUTL HAM BYepa, HO HE

NO3BOHUIIN.

Mbl Mornu Obl nognuncaTtb 3TOT KOHTPAaKT, HO

HE noanumncarnu.

OH Mor 6bl KynUTb OELIEBYHO MALLUHY, HO He

Kynun.

OH mor 6bl NonNyYnTb 3Ty paboTy, HO He
nony4yun.

OH mor 6bl ynTn 13 ocuca ewe B 5 yacos,
HO He yLuén.

£ mor 6bl caenaTtb 3TOT TeCT BYepa, HO He
caoenan.

OHa morna 6kl HanucaTtb Nncbma BYepa, HO

HE Hanucana.

A mor 6bl cTaTb Bpa4oM, HO He CTarl.

OHa morna Obl BbIUIrpaTb 3TO COpeEBHOBaAHUE,

HO He Bblrpana.

He MoXeT BbITb, YTO OH 3aKOH4YMI CBOKO
paboTy Tak paHo!

He moxeT BbITb, YTO el NOHpaBMnach aTa
naoes!

He moxeT BbITb, YTO OHM HAHANN 3TOro
nextas!

He moxeT 6bITb, YTO Bbl unnu B Adpuke!
He moxeT 6bITb, YTO OHa OCTaHoBUNACh B
aTom oTere!

He MmoxeT 6bITb, YTO OHM Npodanu cBow
OusHec!

He moxeT ObITb, YTO OHa cTana Bule-
npe3sngeHTom KoMnaHuu!

He mMoxeT ObITb, YTO OH Ha4yar cBou
pabounn aeHb B 6 yTpal

He moxeT ObITb, YTO OHa npoyvnTana Bce
OOKYMEHTbI TakK 6bICTp0!

He moxeT BbITb, YTO OHU caenann Tak MHOro

owunobok!

Heyxenu oHa cgenana ato?

Heyxenu oH ckasan a10?

He could have solved this problem
but he didn’t.

She could have started a new
business, but she didn'’t.

They could have phoned us
yesterday, but they didn’t.

We could have signed this
contract, but we didn't.

He could have bought a cheap car
but he didn’t.

He could have got this job, but he
didn’t.

He could have left the office at 5
p.m., but he didn’t

| could have done this test
yesterday, but | didn't.

She could have written the letters
yesterday, but she didn’t.

| could have become a doctor, but |
didn’t.

She could have won this
competition, but she didn’t.

He could not have finished his
work so early!

She could not have liked this ideal

They could not have hired this lazy-
bone!

You couldn’t have lived in Africa!
She couldn’t have stayed at this

hotel!

They couldn’t have sold their
business!

She couldn’t have become the vice-
president of the company!

He couldn’t have begun his
working day at 6 a.m.!

She couldn’t have read all the
documents so quickly!

They couldn’t have made so many
mistakes!

Could she have done it?

Could he have said that?

1;2:

1,;2:

1,;2:

’11,2: solve — solved; 3

start — started; 3
phone — phoned; 3

sign — signed; 3

" 11;4: buy — bought; 3

1; 4: get — got; 3

1; 4: leave — left; 3

1;4:

do—did; 3

1; 4: write — written; 3

1; 4: become — become; 3

1; 4: win —won; 3

5;2: finish — finished; 6
5;2: like — liked; 6

5;2: hire — hired; 6

5;2: live—lived; 6; 7

5;2: stay — stayed; 6; 7
5;4: sell — sold; 6; 7
5;4: become — become; 6; 7
5;4: begin — begun; 6; 7
5;4:read —read; 6; 7
5;4: make — made; 6; 7
8; 4: do — done

8; 4: say — said



Heyxenu oHn npoganu ceBon 6usHec?

Heyxenu oH kynun gom?

Heyxenu oHn 3annatunu $3.0007?

Heyxenu oHa 3aHsna nepBoe MecTo?

Heyxenu oHn HaHsnu 8 paboumnx?

Hey>|<em/| OHa noroeopwuna c I'Ipe3I/I}J,eHTOM?

Hey>|<em/| Thbl NOTpaTtuia Bce D,eHbFVI?

Hey»enu oHu nunu BUHO Ha paboTe?

Hey>|<em/| OH Bbli3Barl I'IOJ'IVIU,I/II'O?

Bo3MOXHO, OHa OTKpbINa 3TOT cend cama.

B0O3MOXHO, OHM BKITHOUUIIM KOMMbLIOTEP
YyTPOM.

Bo3amoxHO, eMy noHpaeunacb Ux naes.
HaBepHoe, oHa 3akpbina Mara3vH Ha

npoLunon Hegene.

HasepHoe, oHM yBONUnu ceoero Lwed-
nosapa.

HaBepHoe, OH roBOpWIT C KITMEHTOM MO-
AHITIMNCKN.

Bo3moxHO, OHa Hay4yuna aeTten yntatb.

B0o3MOXXHO, OHW BCTPETUNNCH C MApTHEpPaMM

BYEpa.

HaBepHoe, oH caenan goknag Ha npoLunow

Henerne.

HaBepHoe, OHa nortepsdna cBON OOKYMEHTbI.

HaBepHoe, MoeMy HayarnbHUKY He
noHpaBunachk aTa uaes.

Bo3moxHO, Halum I'IapTHépr HE BCTPETUITNCb

C HalWlnMMm MeHeKepom.

Bo3MOXHO, opuLmMaHTbl HEe NOHANN Wwed-
noeapa.

Could they have sold their
business?

Could he have bought a house?

Could they have paid $3.000?

Could she have come first?

Could they have hired 8 workers?

Could she have spoken with the
president?

Could you have spent all the
money?

Could they have drunk wine at
work?

Could he have called the police?
She may have opened this safe
herself.

They may have turned on the
computer in the morning.

He may have liked their idea.

She may have closed the shop last
week.

They may have dismissed their
chef.

He might have spoken English with
the customer.

She might have taught the children
to read.

They might have met the partners
yesterday.

He might have made a report last
week.

She might have lost her
documents.

My boss may not have liked this
idea.

Our partners may not have met
with our manager.

The waiters may not have
understood the chef.

8; 4: sell — sold

8; 4: buy — bought

8; 4: pay — paid

8; 4: win —won

8; 2: hire — hired

8; 4: speak — spoken
8; 4: spend — spent
8; 4: drink — drunk

8; 2: call — called

9;2:.0pen — opened; 10

9;2:turn — turned; 10

9;2:like — liked; 10

9;2:close — closed; 10

9;2:dismiss — dismissed; 10

11;4:speak — spoken; 10; 12

11;4:teach — taught; 10; 12

11;4:meet — met; 10; 12

11;4:make — made; 10; 12

11;4:lose — lost; 10; 12

13;14;2: like — liked; 10

13;14,;4: meet — met; 10

13;14;4: understand —
understood; 10



HaBepHoe, OH He 3aKOH4YKN CBOKO p860Ty.

Bo3amoxHo, oHa npuexana Ha paboTy Ha
MaLLuHe (3a pyném).

HaBepHoe, MOW Kosifera He nognucan
OOKYMEHTbI.

HaBepHoe, MHBECTOPbLI HE COormacuIiinCb C
Hawnm npesngeHToMm.

Bo3MOXHO, MeHeaXepbl He peLunnm
npobnemy.

HaBepHoe, OupeKkTop eLué He npoynTarn
KOHTpPaKT.

Bo3moxHo, Mon apyr He Havan paboTy.

OHa, 0oMmKkHo BbITb, NOMyYMna 310 NMUCbMO
BYepa.

HayanbHWK, 4OMKHO ObITb, YBOMNWI CBOEIO
cekpeTapsi.

CTyﬂ,eHT, OOJTXHO ObITb, caann 3K3aMeH.

OHun, gomkHo ObITb, NepecTanu padotaTb 3
Yyaca Hasag.

Nm, nomkHo 6bITb, NOHPaABUITOCH MOE
pestome.

MoWw konnera, AOMKHO ObITb, CITOMan CBOW
KOoMMbLOTEP.

OHa, BomkHO BbITb, HaLLa HOBYO paboTy.

Mbl, 4OMKHO ObITb, BCTpe4yalrinCb paHbLle.

He may not have finished his work.

She may not have driven to work.
My colleague might not have
signed the documents.

The investors might not have
agreed with our president.

The managers might not have
solved the problem.

The director might not have read
the contract yet.

My friend might not have begun his

work.

She must have received the letter
yesterday.

The boss must have fired his
secretary.

The student must have passed his
exam.

They must have stopped working 3

hours ago.

They must have liked my CV.

My colleague must have broken his

computer.

She must have found a new job.

We must have met before.

MeHenxep, AOMKHO ObITh, yWwéN ua ocduca 5| The manager must have left the

MUWHYT Ha3ad.

OHa, AOmKHO BbITb, Kynuna HOBYHO MaLLMWHY.
OHu, fomkHo 6bITh, Urpanu B yTHON.

Bam Hapo 6bino pabotate ycepgHee.

Mm cnepoBano yBonuTb 3TOr0 MeHemxepa.

EVn cnegoBano rotoBUTLCA K 3K3aMeHaM.

MM Hapo 6bino noctynate B Apyrow
YH/BEPCUTET.

Bam Hago Gbino npekpatutb paboTy cpasy.

Tebe Hapo 6biNo NpogaTb MaLUMHY.

office 5 minutes ago.

She must have bought a new car.
They must have played football.

You should have worked harder.
They should have dismissed this
manager.

She should have studied for her
exams.

They should have enrolled at
another university.

You should have stopped your
work at once.

You should have sold your car.

13;14;2: finish — finished; 10
13;14;4: drive — driven; 10
13;14,2: sign — signed; 10;
12

13;14;2: agree — agreed; 10;
12

13;14,2: solve — solved; 10;
12

13;14;4: read — read; 10; 12
13;14;4: begin — begun; 10;
12

15,;2:receive — received; 16
15;2:fire — fired; 16
15;2:pass — passed; 16
15;2:stop — stopped; 16
15;2:like — liked; 16
15,;4:break — broken; 16
15;4:find - found; 16
15;4:meet — met; 16
15;4:leave — left; 16
15;4:buy — bought; 16
15; 4:play — played; 16

17,;2:work — worked; 18

17,;2:dismiss — dismissed;
18

17;2:study — studied; 18

17;2:enroll — enrolled; 18

17;2:stop — stopped; 18

17;4:sell — sold; 18



Emy Hapgo Gbino genatb AoMallHee
3ajaHue.

EMy crniegoBario KynnTb HOBbIN KOMMNbIOTEP.

En Hago 6b1no HavaTb Kypc Mecsl Hasag.

Bam cnegosano npuitu Ha paboTty
BOBpEMS.

Bam He Hapo 6bino 3akpbiBaTh ABEPb.

Emy He Hago 6bino paboTaTtb HOYbLIO.

MM He Hago ObINo BbIKIOYATb CBET.

Tebe He Hago ObINo HOCUTL TSXKENbIe
KOpoOku.

EV He Hapo 6bINo HayMHaTb 3TOT BU3HEC
neTom.

MM He Hago Gbino yxoauTb N3 oguca gHEM.

TebGe He cnegoBano NpuxoguTb Ha paboTy
Tak No3aHo.

CereTapro He crnenoBaso pas3roBapuBaTtb C
Ha4alibHUKOM TaKuM o6pa30M.

CTtyaeHTy He Hago Obino 3abbiBaTh 06
aK3ameHe.

Emy He cnenoBano BbibMpaTh 3Ty MaLLMHY.
OHa 3ps1 oTKpbINa cend.

OHn 3psi paboTanu B BOCKPECEHLE.

Mbi 3ps 3akoH4Mnm paboty B 10 Beuepa.

OHu HanpacHo nepecTanu nucaTb.
OHa 3ps BbiWNa 13 oguca.

3psi Mbl 3annaTUKn 3a 3TU YCRyru.
OH HanpacHO NPUHEC CBOM KHUIW.

CTyneHT HanpacHo npoYnTan 7 KHU.

OHa HanpacHo npuvwna Ha paboTy B 7 yTpa
B CyG0O0TY.

OH HanpacHo cocTaBun OTYET.

He should have done his
homework.

He should have bought a new

computer.

She should have begun her course

a month ago.

You should have come to work on

time.

You should not have closed the

door.

He should not have worked at

night.

They should not have switched off

the light.

You shouldn’t have carried heavy

boxes.

She shouldn’t have started this

business in summer.

They shouldn’t have left the office

in the afternoon.

You shouldn’t have come to work

so late.

The secretary shouldn’t have
spoken with the boss this way.

The student shouldn’t have
forgotten about his exam.

He shouldn’t have chosen this car.

She needn’t have opened the safe.

They needn’t have worked on

Sunday.

We needn’t have finished our work

at 10 p.m.

They needn’t have stopped writing.

She needn’t have left the office.

We needn’t have paid for this

service.

He needn’t have brought his

books.

The student needn’t have read 7

books.

She needn’t have come to work at

7 a.m. on Saturday.

He needn’t have written a report.

17;4.do — done; 18
17;4:buy — bought; 18
17;4:begin — begun; 18
17,;4.come — come; 18
19;2: close — closed
19;2: work — worked
19;2: switch — switched
19;2: carry — carried
19;2: start — started
19:4: leave — left

19;4: come — come
19;4: speak — spoken
19;4: forget — forgotten
19;4: choose — chosen
20;2:0pen — opened; 21
20;2:work — worked; 21
20;2:finish — finished; 21
20;2:stop — stopped; 21
20:4:leave — left; 21
20;4:pay — paid; 21
20;4:bring — brought; 21
20;4:read —read; 21
20;4:come — come; 21

20;4:write — written; 21



KommeHTapuu:

1 — could + have V (3 ¢popma). COULD HAVE DONE = mor 6kl (HO He caenan), ynyLeHHas BO3MOXHOCTb
2 — rnaror npaBuUIibHbIN

3 — ynyLeHHasa BO3MOXHOCTb

4 — rnarorn HenpaBUIlbHbIN

5 — couldnot + have V (3 bopma). COULD NOT (COULDN'T) HAVE DONE = He MOXeT 6bITb (0O AEUACTBUAX B
NpoLUoM)

6 — He MoxeT 6bITb (0 AENCTBUSX B MPOLLIOM)
7 — could not = couldn't

8 — Bonpoc —could nepen nognexawum: Could nognexailiee have V (3 popma) ...7? — Heyxenun ...? COULD
= HeyXernu (0 4eNCTBMAX B NPOLLIIOM)

9 — may + have V (3 dpopma). MAY/MIGHT HAVE DONE = moxeT 6bITb, BO3MOXHO, HaBepHoe (0 4ENCTBUSIX B
NpPOLLIOM)

10 — BO3MOXHO (O AENCTBMAX B MPOLLIIOM)
11 — might + have V (3 popma)
12 —might — cTeneHb YyBEPEHHOCTU HUXe, YeM Y may

13 — oTpuuaHue — not nocne may (might)
14 — may/might + have V (3 coopma)
15 — must + have V (3 dpopma). MUST HAVE DONE = gomkHo 6bITb (0 AENCTBMAX B NPOLLIIOM)

16 — BOmMKHO B6bITb (O AENCTBUAX B MPOLLISTOM)

17 — should + have V (3 popma). SHOULD = Hago 6bin0, crnegoBano (3ano3ganbin COBET)
18 — Hago 6bIno (0 AeNCTBUAX B MPOLLITOM)

19 — otpuuanue —no tnocne should: should not + V (3 coopma)

20 — otpuuaHue — needn’t = need not; needn’t + have V (3 popma). NEEDN’T HAVE DONE = 3psi/HanpacHo
(To ecTb, He BbINI0 HEOBXOANMOCTU CoBepLUATb AAaHHbIE AEACTBUS)

21 — 3psi/HanpacHo



